PARALSE - RH2015-04
archi#: 21 ()

2015 £E/E G6PD HERS AR BREE — Kbk i E SR B

IReFH HET 2015404 20 H
EU T EEZR) : 21 (100%)

1 AR EMEZ BT GOPD itz (Hb) & Eteigimn B s i—E%

2. A2 B bE GOPD JE S AR ERle i sn e &5 AR o i

3. A

i B AR

2Bl a3 (Hb) & EiakaleEanEd

s EgE - HEE 2 2015 5 04 A 27 B

4 BRI

s
s

Y=

e e 45 R B C.V. S{ffilE

SEAREE

(=

on'E

fef GoPD JE M {HEAEER =[] C.V. s1{fi

6. AR EHERE 7 score, D% K SDI 43 i B513=

=2 B BEGOPD K Il (a3 (Hb) E BB m B R —HR

WEREAr || HEERiE | EHEEER Sample 1 Sample 2 Sample 3 Hb1|Hb2 | Hb3
{’hﬁ% {tﬁ% (3%) (U/ghb)| D% |z score|| SDI||(U/ghb)[f D% |z scoref SDI||(U/ghb)|[ D% ||z score|| SDI|| (g/dL) (g/dL) (g/dL)
RHO1 iﬁg; 1 [ 142] 29% | 04 [07] 60 0.0% | 0.0 [00] 42 | 0.0% | 00 [00] 22 | 22 | 23
RHO02 RHO02 3 13.1]-5.1% || -0.7 |-0.9 6.1 | 1.7% || 0.2 [0.2] 44 | 4.8% || 0.7 |0.7] 2.2 2.1 2.2
RHO04 RH04 7 1381 0.0% | 0.0 {|0.1 6.1 | 1.7% || 0.2 [0.2] 43 | 24% | 0.3 [[0.3] 2.3 2.1 2.1
RHO06 RHO06 4 141 22% | 0.3 [|0.6 6.3 | 50% | 0.7 |0.6( 4.3 || 2.4% || 0.3 |0.3]| 2.2 22 | 23
RHO7 RHO7 4 128 -7.2% | -1.0 [|-1.3| 5.7 | -5.0% | -0.7 |-0.6| 4.1 | -2.4% || -0.3 {-0.3| 2.5 24 | 2.5
RHOS RHOS 4 140 1.4% | 02 |04 6.0 | 0.0% | 0.0 [0.0] 42 | 0.0% || 0.0 [0.0] 2.2 22 | 23
RH09 RHO09 4 1341 -29% | -04 |-04| 6.4 | 6.7% | 1.0 [0.8] 4.1 |-2.4% || -0.3 |-0.3] 2.2 20 | 2.2
RH10 RH10 5 13.5]-2.2% | -0.3 |-0.3|| 5.8 | -3.3% || -0.5 [-0.4] 4.0 |-4.8% || -0.7 ||-0.7] 2.3 22 | 23
RH12 RH12 7 134 -29% | -0.4 [|-0.4] 5.5 | -8.3% | -1.2 |-1.0| 3.8 | -9.5% || -1.4 |-1.3] 2.2 20 | 2.2
RH13 RH13 2 143 3.6% | 0.5 [[0.9] 5.7 |-5.0% | -0.7 |-0.6| 3.9 || -7.1% || -1.0 |-1.0] 2.2 2.1 2.3
RHI14 RH14 4 1431 3.6% | 0.5 [|0.9) 6.5 | 83% || 1.2 |10} 42 | 0.0% | 0.0 [[0.0] 2.3 22 | 23
RH18 RH18 2 1381 0.0% | 0.0 ||0.1f 5.8 |-3.3% | -0.5 [-0.4] 42 | 0.0% | 0.0 0.0 2.3 22 | 23
RH19 RH19 3 128 1-7.2% | -1.0 |-1.3| 5.1 {-15.0%] -2.1 |-1.8]| 3.4 [-19.0%]| -2.7 |-2.7] 2.2 2.1 2.2
A0189 A0189 4 13.0-58% | -0.8 [|-1.0]| 6.6 |10.0% | 1.4 | 1.2| 4.7 [|11.9%| 1.7 | 1.7 2.3 2.1 2.3
A0203 A0203 7 12.0 [-13.0%]| -1.9 [|-2.4 5.5 | -8.3% | -1.2 |-1.0] 4.3 || 2.4% || 0.3 {0.3]| 2.3 2.1 2.2
G026 G026 4 1411 22% | 03 0.6 6.3 | 5.0% || 0.7 [0.6] 4.0 |-4.8% | -0.7 ||-0.7] 2.3 22 | 24
CL001 RH16 7 1411 22% | 03 ||0.6f 6.1 | 1.7% || 0.2 [0.2] 45 | 7.1% | 1.0 [[1.0] 2.3 22 | 23

RHO03
RHI11
CL002 12}1613117 1 133 -3.6% | -0.5 [|-0.6] 5.7 | -5.0% | -0.7 |-0.6 4.1 || -2.4% || -0.3 -0.3| 2.2 20 | 2.2
B005
CLO16
B001 B001 8 155(12.3% | 1.8 [[2.6] 5.8 [|-3.3% | -0.5 |-0.4| 4.4 | 48% | 0.7 |0.7] 2.1 22 | 2.2

CLO14 CLO014 7 15.7)13.8%| 2.0 [[29] 6.8 |13.3%| 19 | 1.6 4.5 | 7.1% | 1.0 | 1.0]| 2.2 2.1 2.3
CL015B CL015B 132 -4.3% | -0.6 |-0.7) 5.3 |-11.7%]| -1.7 |-1.4] 3.6 [-14.3%] -2.0 |-2.0] 2.1 2.1 2.2
Total participating laboratories = 21

Xa (Median) - 4 13.8 6.0 4.2 2.2 2.1 2.3
g9, - - 0.966 0.42 0.294 - -
Range - 1-8 12.0-15.7 5.1-6.8 3.4-4.7 2.1-2.5(2.0-2.4|2.1-2.5

n - - 21 21 21 21 21 21
Mean - - 13.7 6.0 4.2 2.2 2.1 2.3
S.D. - - 0.7 0.5 0.3 0.1 0.1 0.1
C.V. - - 5.1% 8.3% 7.1% 45% | 4.8% | 4.3%

Note:

1. D% Fotialipfl (X)) BIREME (Xa) 2 ZEBEEENELEDESILRT - D%=[(X - Xa)/Xa]x 100%

2. zscore FyREREAERE (D=X - Xa) BEPEEE (0 ) ZHME © (zscore=D/o ) °

3. SDI Ryt (B BV EEAY 2 PEBTREAG AR 72 Ehf - [ SDI= (X - Mean)/SD]

4. 3% ETH (Assigned value; Xa) SyiZin B igRa & RBebE o B P E4E R 2 P8 ( Median ) ©

5. FEEREER (0 ) B 7% x Xa» {835 Xa <29 Ulghb i > H 0 =02

6. FEHE (Mean ) FAFFRGITAER (SD ) £RFIRE(E (Robust ) 4517775515 (k¥ ISO 13528:2005 #551 » A Algorithm A EEDE) -

7. Acceptable : | z| = 2; Caution * 2 <| 2| = 3; Unsatisfactory : | z| >3

8. Fx AR FF 7= ( Maximum Allowable Deviation; MAD ) £ 3 x (0 » /Xa) x 100%




Long Term Observation of Blood G6PD Quantitative Test QA Survey Results

Survey No : RH2015-04 (in green ®)
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40%

30%
C.V.
20%

10% e, R X 5

BatchNo RpH2013-01 RH2013-03 RH2013-05 RH2013-07 RH2013-09  RH2013-11  RH2014-01  RH2014-04 RH2014-07 RH2014-10 RH2015-01  RH2015-04d
Fig RH-2.1

- Total participants' CV result ploted against G6PD activities
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Fig RH-2.2

* Mean and SD are calculated by Robust method according to ISO 13528:2005 since 2014
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